Parts Breakdown

Model GR-IT-1491-B 19921

°

RS

°

AN

\

\

\
_\%\

\
N
b)
N,
N
W o
3
v
N/
o




Parts Breakdown

Model GR-IT-1491-B 19921

Item No. Description Position J Item No. Description Position Item No. Description Position
Motor. MIOL HP 2 B34 4P 230/60 with
AM943 Foot for 19921 1 AM946 Cato S ANERSIANAUL A Z0Y 19 AMB95 Thermal Protection & Motor Brake CSA 37
3MT for 19921
for 19921
69209 Washer DIN 125 D3 for 19921 2 18960 Magnet Anodized for 19921 20 69206 Leg Side IS 8/16 for 19921 38
62648 Blind Nut DIN 1587 M5 for 19921 3 AM947 PCB Taglioretti (Seff-Braking) for 19921 21 44917 Handle for 19921 39
69210 '1”9‘1992”;9" Washer DIN 6798-AD 8E for 61604 Strain Relief + Nut for 19921 2 66623 Grater Mouth Inox for 19921 40
62657 Screw TSPEI DIN 7991 M8x20 for 19921 5 61603 Nut Ott.Nich.PG 11 for 19921 23 66624 Flange for 19921 4
69211 Washer Thick DIN 9021 D8x32 for 19921 6 AM948 2”;;;:‘2 Puls. Acc X Capsula Silic. for 41688 Pin for 19921 )
69212 Screw TCEI DIN 912 M6x12 for 19921 7 AM949 1ng; At Mo UL R g 66622 Cover for 19921 43
Grub Screw DIN 913 M5x16 CE for Protettore Termic. Monof 10A UL CSA Thickness Pressing Sheet of Mouth
AM944 19921 8 AMSS0 for 19921 % 69207 for 19921 4
62662 Screw TE DIN 933 M8x16 TF. for 19921 9 AM951 \ST?(')? f;;fz‘?are”' ZUEBNTNE gy AM957 Omega Supporto Motore for 19921 45
Stainless Steel Button Start with Lamp Plexi Glass Collecting Tray (Front
69214 Screw TE DIN 933 M8x30 TF. for 19921 10 AM952 o0 o 19091 28 18959 Handls Styl) fo 9821 46
69215 Nut DIN 934 M3 for 19921 1 AM953 Stainless Steel Button Stop for 19921 29 41907 Drum (Oct 2001 - Current) for 19921 47
65634 fSeIf-Lockmg NUESDIN9B2 M4 High ) 66630 Microswitch E531 TA 250VAC 3A for 2 60203 Upper Plastron Mt for 19921 i
or 19921 19921
60079 Cele S AN R g 65421 Magnetic Switch for 19921 31 AMOS8  Carena ETL for 19921 49
69216 ool Blocking NutES Din 982 M8 Upper 4 AMS54  Cuscinetio 6005 2RS for 19921 ) AMS5  CarterX Carena ETL for 19921 50
69217 Screw Poeliers M4x8 for 19921 15 AM955 g‘fgggj‘ SEERTEHRREN AMSSO  Fondello X Carena ETL for 19921 51
69218 Screw Posliers M5x8 for 19921 16 AM956 Gommino Adesivo 10x10x2.5 SJ5007 4 AM96 Mostrina Messa Terra Diam. 22 Lucida 50
for 19921 for 19921
AM945 Poeliers Screw M5x10 for 19921 17 69205 Handle 236-148 M5 Inter 94 for 19921 35
60080 Screw Poeliers M5x12 (Pack of 10) for g 60077 Fixing Knob for 19921 3%

19921



